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1 a A class consists of 6 girls and 10 boys. If a committee of 3 is chosen at random from  6M
the class, find the Probability that (i) 3 boys are selected (ii) Exactly 2 girls are
selected.

b Three students A, B, C are in running race. A and B have the same Probability of 6M
winning and each is twice as likely to win as C. Find the Probability that B or C wins.
OR
2 In a bolt factory machines A, B, C manufacture 20%, 30% and 50% of the total of their 12M
output and 6%, 3% and 2% are defective. A bolt is drawn at random and found to be
defective. Find the probabilities that it is manufactured from (i) Machine A (ii)Machine
B (iii) Machine C

UNIT-II
3 By applying Bisection method to find a positive root of x3 —x — 1 = 0 correct to two 12M
decimal places.
OR
4 From the following table values of x and y=tan x, find the values of y when x=0.12 12M

and x=0.28.

X 0.10 0.15 0.20 0,23 0,30
y | 0.1003] 0.1511| 0.2027| 0.2553 | 0.3093

|UNIT—III|

5 Solvey] =X+Y, giveny (1)=0find y(1.1) and y(1.2) by Taylor’s series method Izl
OR
6  Evaluate fol;lr—ldx by (i) Trapezoidal rule (ii) Simpson’s 1/3 rule (iii) Simpson’s 3/8 rule 12M
and compare the result with actual value
7 a Find the Laplace transform of / (l‘): e sin3t 6M
. Show that fooo t? e *sin 2t dt = 11/500 using Laplace Transform 6M
OR
8  Applying Laplace transform method to solve y*' — 3yl + 2y = 4t + ¢3¢ 12M
where y(O) :l,yl(()) =
9 a Find Z —transform of the following (i) e %" (ii)n e~ %" (iii)n? e ~*" (iv)n a™ 6M
b Evaluate Z]{ Z——W , Using Convolution theorem M
(z-D(-3)]
OR
10 Apply Z-transform solve y,,, 6y, +8y, =2"+ 6n 12M
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